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Section : Statistics

Q1 fady aRERaT Ao #F TR i TEm R fR 7 = g

X0 weTott & wgeaw R 3Rmaw A=
V7 SRIOT % W
X3 getolt & AT
X 4. WaTOT 6T FPoT HET

Question ID : 65497837579
Status : Answered
Chosen Option : 4

Q.2  gufFar ge=dga wfwsy &, Tt F 4 g 93T TE ¥ #r

F @ 3T
T ZeffEr g

A X1 gfaeer mifendr: SauwEaT g
X 2. gfaeEer TEIUT, FTEEAT JEIOT

v 5 giaeer ATET; HgT AT (grand mean)
X 4. gfeesl AT 99dd; JAHEAT Al o=els

Question ID : 65497837636
Status : Answered
Chosen Option : 1

Q3 JrurErEh g #T 3uATy F O uw stear #raver . F gEer & B 9 E
Ans o T ATET

X2 FAET AT

X 3. gllcHeh HTEO

o 4. ?;rU'ﬂFlTIlT‘FII'

Question ID : 65497837657
Status : Answered
Chosen Option : 4




Q.4 7z oieor 37 & BT 5 ANOVA 57 miftadg gfteror Fifem$ e ¥ Ageaqyr &, T F faw
T Fifas 7= & BT # FEeT F TR W T & T R 2 |t # sraeasar g

A X s, afRest #T A e
v 2. FiceeT 1 JR, FHEI H JEAT

X3 geanfeg SHERET, 9o SHERa

x4 MSTR, MSE

Question ID : 65497837629
Status : Answered
Chosen Option : 1

Q.5 The regression assumption is that the deviations from the regression line (residuals) follow a:

Ans 1. normal distribution
X 2. F distribution
X 3. y? distribution

& 4. uniform distribution

Question ID : 65497837643
Status : Answered
Chosen Option : 3

Q.6 v FeA FT TgAF 4 & TUT FHH ATh [adore R TEROT IONF FHN: 9 HR 4.4 IR

few ot ¥ fawHEar @ R (Pearson) W T FLI

Ans x1.-0.667
X2 0.667
X3 0217
v 4 -0.217

Question ID : 65497837607
Status : Answered
Chosen Option : 1

Q.7 3R W= (shape parameter) k AT AT S (scale parameter) 2 & FTY aTel 3G de B

AT AT Y

X1 2k(In2)k

Ans

v 2 )(In2)k
X3 Je(In2)*
X4 A(In2)*

Question ID : 65497837596
Status : Answered
Chosen Option : 4




Qs is a plot of a sequence of observations made over time.

Ans X 1. ogive

X 2. box and whisker plot
X 3. histogram
+ 4. historigram

Question ID : 65497837615
Status : Answered
Chosen Option : 1

Q9 zfx ars3r (Bowley) F1 RAwwHaT Uit 5, wAEHS &, & FeRRE # ¥ stear Fwer v P
Ars X1 Q-0 =Q:—Q,

V2 Q-0 <Q:—0;

X30,—0,>0Q:—0;

X4 0Q;—0,20Q;—0Q;

Question'ID : 65497837605
Status : Answered
Chosen Option : 2

Q10 zw faemfindt & fomw, & seer-se ot & g F @9 T & % ey o -0.3 & i
F FH & T F 0T 1 AT FT FEI?

Ans X 1. 2185
v 2 2145
X3 2225
x4 2105

Question ID : 65497837642
Status : Answered
Chosen Option : 2

QM a=03 b=6 ¥ Ty CFEAT dea @ B IRew W x F Bv Res fig 0T (raw
moment) (‘u‘—,) & T = AT A F

Ans
x1.2%

X 4.

<
w !
|3 &l Gle -

Question ID : 65497837601
Status : Answered
Chosen Option : 3




G2 olreror 7 ofFT aRT GUR T ST Fehe B
A v a2 wfies R F yaer
X2 a % T S TR A F T94

X 3. OTATTT Tiedded & 9aET
X4 FF I SFU Fr giEar

Question ID : 65497837620
Status : Answered
Chosen Option : 4

Q13 v gowr & w2019 # w1 afo Ry &1 goen # aws Ry e swwer ¥ & aeRos
gﬁz&&#wmﬁuoomﬁmﬁ#zummﬁwmgmmsrﬁrza‘r:mav
o, & off o SewEm & AT § So6 & gua J e 5 A0 AUE FEET g, Wi
ofreToT ST AT FUT ET?

Ans o 1 24
X206
X3 1.2

X403

Question ID : 65497837598
Status : Answered
Chosen Option : 2

*PDF f(x)=2;1<x <3 % fAw 507 eraaa® A1d H1|
Ans X 1. 7

X2.V’§

X3 e

o 4 4[5

Question ID : 65497837611
Status : Answered
Chosen Option : 4

QA5 ummesR® fer fAf=r & v |AET (arithmetic), IUiTET (geometric) 3 geAF (harmonic) ATed &
e Tt =i 2

Ans X1 GM < HM < AM
2 AM > GM > HM
X3 AM > HM > GM
X4 AM < GM < HM

Question ID : 65497837584
Status : Answered
Chosen Option : 2




F: 2, 6, 10, 22, 27, 11 &I

Ans 1. 38.57143
X 2. 37.43571
X 3. 36.14357
X 4. 39.35714

Q16 2er w7 5-10, 10-15, 15-25, 25-35, 35-50, 50-60 FT agers 1 F s Gedw o i A&

Question ID : 65497837583
Status : Answered
Chosen Option : 4

Ans X< 1. 25
X2 35
&3 65
X4 45

QA7 50 Fregnfidt & v e F 10 ehor go § st o Srea 7 st 2.5 #1 Gl Fen & s
& T 285 ¥ 37 Rl &1 sitwd srewE w@ oSt 5o g

Question'ID : 65497837587
Status : Answered
Chosen Option : 3

T HL
Ans a0 ﬁS
24
435
8
1235

2.

Q.18 frafaf@a amt & surer Bl wwafa aiardar deq & v 59 g & 7€ O 7w = 50, Reew
o = 36%, AR Fer BT F g gFR 7 R o = -0.26 ¥ 39 I F ages o A

Question ID : 65497837609
Status : Answered
Chosen Option : 1

Ans x 1. n

X 5. HAFAE!
v 4 FTer

X2 mree fE=esT

Q.19 gmzor T RvAST FE comERt ¥ e O & gor w1 A v wrREhT st ¥

Question ID : 65497837628
Status : Answered
Chosen Option : 2




Q.20 zfy se=r &7 wgem, gE T ET TgEE FAA: 24, 42 R 72 §, & ugiE Reew = & e
TET gen?

Ans x 1. 50
X2 36
X3 48
4 24

Question ID : 65497837589
Status : Answered
Chosen Option : 1

Q21 gomers Yequl arer g HeAT (dataset) & fAw FUilcal AT (geometric mean) I

A v ey T R o gt
X2 o= g

X 3. HUcH g
X 4. eIATCHe grem

Question ID : 65497837608
Status : Answered
Chosen Option : 3

Q22 #fy G dewt & e s, wftes, agas AR Aww Raew w614, 61.25,61.13,1.76 & ar
w1t R 1w Rwwar quis w7 geme

Ans X1. 0.053
X2 0.253
3 0.153
X4 0.353

Question ID : 65497837602
Status : Answered
Chosen Option : 2

A2 et & T Ave g§ Ao B Hwer Fhw fewew H v SaEIOT §72

e v aefees TfafaRr
X2 = aifafata
x o e R
X . ST SO

Question ID : 65497837656
Status : Answered
Chosen Option : 3




Q.24 Fexr & gy IR FE=C fig 30T (raw moments) 2, 136, 320 31T 40,000 &1 FFET AU AT FI

Ans _456

y AR
(132)2
><_2_(—451532
(132)?
» 40656
- (132)2
2
x%.(40655}
(132)2

Question ID : 65497837606
Status : Answered
Chosen Option : 3

Q.25 ol e # FHE A Y 3T F w5 v T e fg 4 - 12 F waw weo g
HTEOT (raw moment) FT p) = —3,u5 = 94,4 = 5464, = 2200 F FT & ZolTAT AT ¥ TEAREAE AT 94
F WY HTEUT (moment) p, AT HY |

Ans X 11328
X2 1318
v 3 1338
X 4. 1348

Question ID : 65497837599
Status : Not Answered
Chosen Option : --

Q26 o xifii=12..n TEROT 4, TgAF 4, HR WA A 2.5 A ARG T ¥, A TgoF F A
T w7 F:

Ans  x 1. B BQ
X2 250
X3 175
v 4 6.25

Question ID : 65497837592
Status : Not Answered
Chosen Option : --

Q27 ey Pr-Rrag Sgedr &1y, = 0.7, 15 = 0.6, 3 1, =05 B, @ R, FT 7 71F &Y
Ans 1. 0.74

x2 0.84

3 057

x4 0.50

Question ID : 65497837647
Status : Answered
Chosen Option : 2




Q28 3 Row o1v &t T==a F ¥ v ¥ B e & 9w aefRes w9 ¥ e o g
WeEw 1:1,2,3,4,5,6,7, 8
WHeaw 2:2,3,4,5,6,7,8,9
FEIHT FT AT 9 F TET A FT TR AT 2
Ans 7
W P
64
14
81
8
91
i

x4
72

Question ID : 65497837666
Status : Answered
Chosen Option : 1

Q2 Srafaf@a & ¥ Fia-w & v sfacs! Fifewdr (sample statistics) §?2
A o1 o3 .

72 X 3 s

X3 s 3to

X4 u3dT o

Question ID : 65497837660
Status : Answered
Chosen Option : 4

Q.30 UTI =F W ¥ FFF e 3 30 FEAaH S0 (returns) ST UF IR § 4 T °F
Frew Tarol wefiT FRaT &1 wHE AT & yEwen AeE 3T 0.02 # sfed Avew #r A g
F 0.01 7F F7 T F v afgeer F7 3R fraar s (s S S e

Ans X 1.110
%2100
X3 80
v 4 90

Question ID : 65497837649
Status : Answered
Chosen Option : 2




Q3 oo aerest F sitwE A, PeeR@E # @ #iF @ e wETw 39gewa T 87
Ans o 1. ﬁFﬂTH WW

X 2. FEOl HT gcHS AT

X 3. TG F FAGK AT

X4 Hedr H Afee

Question ID : 65497837651
Status : Answered
Chosen Option : 3

Q.32 i fet 2o &1 A REee 10 § 3Rk ST o 50 7, & 3@ 3T # Avew A #
Ans  x 118

2 20

X3 15

x4 2

Question ID : 65497837588
Status : Answered
Chosen Option : 2

Q.33 ¢ 2019 3l 2020 # wRFH (R 5 ko) F T (3F) =W IFR &

2019: 60 (37s); 70 (SAT); 40 (TATE); 30 (&)
2020: 70 (37=); 60 (SaTN); 48 (TFIR); 27 ()

T weeadr RfY (simple aggregative method) Zamy, 3w # 3= Hpw IRTaw gl

Ans 4
X T H 2% e g

X2 Hed H 2.5% Fr g FA

Xo TET A 2% HNAS HAT
v A H 25% @y Fie

Question ID : 65497837661
Status : Answered
Chosen Option : 1




Q.34 ow 7% BAUT FET F FAAN AfE @9 HoT = G 81 e @ sfEet geo e e
T AT S8 §F 57 F Aem 2.3 ¥ 9w BEew 1.3 ¥ 7w o % 2 A9 T9EeT ge
Fomar E1 T X, 40 HfEET F T et ofaeyr & v fave a9 5w v osw ofes aew &
Aem & T 7, AT REe d A e oiea (Feeen) i T L 2 v s

Ans 2 23
x p(s < 2225)
23 2
X2 P
wm
2—23
3 P e
(Z)
23-2
xo p(a< 227
5713

Question ID : 65497837650
Status : Answered
Chosen Option : 2

Q.35 afy ATFTAT (Laspeyre) F1 Faww 128 ¥ 3T T (Paasche) & Fawi= 32 &, & R (Fisher) &
G FEFE T & =rET g |

Ans x4 32
X2 80
X3 108
4 64

Question ID : 65497837652
Status : Answered
Chosen Option : 3

Q.36 fgg MCQ 9fieivr & AreUR ¥ 39+ |Q i S+ Fa GEar g1 SH 0T # UF W' Seal Wigd 9w
7o | Soiw WA F A7 BT {1 3 9 53F v F 3R F 599 TRiow HgEE we g, a
FTH WA et § & 30 A7 ma & g wd e e

Ans X 1. 0.265
X 2. 0.365
X 3. 0.465

v 4 0.165

Question ID : 65497837572
Status : Answered
Chosen Option : 3




O Srm ge F Arey 3R gERer gEE A 0

A" &1 carEt (Poisson) deeT
X 2 FEITAAE §ea
X3 AT Fed
X4 STETATR SEoT

Question ID : 65497837568
Status : Answered
Chosen Option : 1

Q.38 zfy waw wefow I X, a =5 3T b = 22 & WY CHEAR T F HJWOT FI §, A 9T A=
x = 13.7 forw agdw @ w&faT 22

Ans x 1. qga.
X2 gHY
v 3 drE
X4 =ter

Question ID : 65497837586
Status : Answered
Chosen Option : 2

Q.39 fy syuradr g W f(x)—e 0= x <0 F T HF R maw ¥, I Owdw = B g, (3RS
FFeal | excess kurtosis) FTe i

Ans 1 9
¥2 6
X3 3
x4 1

Question ID : 65497837626
Status : Answered
Chosen Option : 4

Q40 o wfoeet % forw, Peslf@e # @ sweae: 5w R 1 gaer B s
A forararer R

X2 T OR=ow Yia=9dd

X o TERoF 3 TN F T TR gC S

X4 Ol TE=Ge Taadsd

Question ID : 65497837659
Status : Answered
Chosen Option : 1




Q41 e el TR AT e & T o F O F o Reew @
X T F A A

v 2 T # AR

Xo THEl F AT AR T F AT F

X4 g AT IR AT Aeg F 9 &7

Question ID : 65497837630
Status : Answered
Chosen Option : 3

Q.42 oo F vgar 99 BA F B vw 5w & sitwa smw 25 9 RA #1 o 97 woaw % 9 o7 RE
TF FH FAT &, O 3T 9 Ry fr sitma s 230 2 &1 sEh o5 Re Froamw A 1)

Ans x 1. 155
X2 335
X 3. 345
4 255

Question ID : 65497837580
Status : Answered
Chosen Option : 4

Q43 ot qEUTET (enumeration) T HTeTRE T eI F BFE ®T A S AT 22
A" v ST TeToT

X 2. gfgas \detor

X 3. graifaes @dator

X4 cOTaeR HEeTuT

Question ID : 65497837613
Status : Answered
Chosen Option : 2

O SfefE # ¥ FlF-w %o TReiTA (tabulation) T wTsT A& &2
A X1 g T AR TR $r s99 e B
Xz.mgﬁmmﬁwmﬁ'l
v 5 A WA $T H FAfed 3eT H IRGTad HL &l gl
X 4. Iz Faearwor 3R OTEw wa # S T R

Question ID : 65497837614
Status : Answered
Chosen Option : 3




Q.45 5 sl & wHg R 6 = & Wy e mRos =F Baea ANOVA wierr & e, wadsar #
° AR e 2

Ans X 1 G
v 2 20
X3 4
x4 29

Question ID : 65497837634
Status : Answered
Chosen Option : 4

Q.46 Gt =€ F unfew ofT AR ¥ ST TR S oA 7 06 9w wiy AE It 3w ue mAe ¥
2t 2120 =@ wfy g §1 W 9 F S sEe 9T Awa o e &2

Ans X1 2108 = wfa AT
v 2 3110 o= 9fa A
X3 2100 =@ wfa A
X4 2120 omw wfa A

Question ID : 65497837581
Status : Answered
Chosen Option : 2

Q47 4, — 0.75 ¥ Ty FIfEET R=R (geometric variates) #r RwaaT Fg L
Ans x 1. 2‘0

225

x31.0

X415

Question ID : 65497837597
Status : Answered
Chosen Option : 3

Q.48 zr weamat 4 3R B ¥ wewr F1 =T WiASATT w7 & S ueAnst & ve my ufed @ i wiidar
I

Ans x 1. Em
X2 us gl
v 5 gT FTTET
X4 =T g

Question ID : 65497837619
Status : Answered
Chosen Option : 1




Q.49 faelr grmarorm #, 40% WO &1 gEd § ST A 60% Rreme #r e §1 Aw W ¥ R oo &
2% TE T A ol 1% R & % B F § 7R oF o 7 Tos w9 ¥ BEes wosw
& # wrr =T, & g A H afiwar T @l @ a e i gres e

Ans

x 1.

X2 =

& 3.

.

Question ID : 65497837624
Status : Answered
Chosen Option : 3

Q.50 Fpaan (kurtosis) Ak sfafea FPpeT (excess kurtosis) F @7 AR AT FLI
Ans X 1. 05

v2 3

X3 2

x4 1

Question ID : 65497837610
Status : Answered
Chosen Option : 1

Q51 ofy x Fdead r=10 3R p=04 F Ty FUTHF cfATe 77 # @ §, & x Fr Frvwar 79
Exl

Ans X 1. 085
x2.0.80
X3 0.75
v 4 0.70

Question ID : 65497837591
Status : Answered
Chosen Option : 4




O Tt arefPos W X # gey elfEd v @
¥ J 2 1 0 -t =Z =3
f): 01 02 3k k 2k 0 01

E(X) & |1 91T &4

Ans x 1. 03
X2 0.2
X3 04
+4 0.5

Question ID : 65497837665
Status : Answered
Chosen Option : 3

Q53 Fm ¥ fF P(A) =1/3, P(B)=1/4, P(A|B) = 1/6, SifAsaT P(BlA) fras sy 2

Ans I
o1 —
a8
_ 1
y R
4
_ 3
p S
4
_ 3
Xa _
8
Question ID : 65497837623
Status : Answered
Chosen Option : 4
Q.54 afy e wog & Faer v & Ae0r WEEfAE A o @, @ wEEdy Hewd &1 A grer &

Ars X103k 1 ¥ &=

X2 13t 1 &=
v 3 1
)

Question ID : 65497837639
Status : Answered
Chosen Option : 1




Q.55 goi et vg & Feat 3R aftl F oftedw # A & Semea gefor o

(oM
aq 1: 85 (2016 #) $7 (2017 #)
aF 2: §10 (2016 #H) $13 (2017 )
aFq 3: $20 (2016 #H) $24 (2017 #)
9REATL:
&Rg 1: 100 kg (2016 #) 150 kg (2017 #)
Frq 2: 200 kg (2016 #) 250 kg (2017 #)
aFq 3: 300 kg (2016 #) 350 kg (2017 #)
T¥ 2016 F HUR T Fad §T I 2017 F A0 AT (Laspeyres) TrT Tawis i
Ans 112363
X2 125.38
x<3.100
X4 128.23
Question ID : 65497837662
Status : Answered
Chosen Option : 1
Q.56 O:x<:0
: Zi0sx<?2
AT o T X @1 CDF, F(x) =13
o 2=x<4
L;x=4
¥ Zarr e am g8t P(X = 4) 71T &1
Ans 1 3
1. =
5
4
X2 =
5
x3 X
5
2
X4 =
5

Question ID : 65497837575
Status : Answered
Chosen Option : 1




Q57 gz & 5 X v arwad amefeom o E, R pmf £(0) = S50 =345 ¥ X F v A A

Ans
x1 2

25
x 2.
x 3.

Ao

Question ID : 65497837571
Status : Answered
Chosen Option : 4

@ gETIEOT U W 9g ¥ TEAT AT 87
(I) /& (Origin)
(I) A= (Scale)
A k) s () @ |@
X2 Faer (Il) TEr &
v o Fad (1) TEr Bl
Xaqar () wr g, 7 () " 2

Question ID : 65497837641
Status : Answered
Chosen Option : 3

Q.59 =fx X 5w A = 0.2 & A e w@rE (Poisson) @2 1 HFEOT FAT §, & X F g w0
HTEUT AT FL

Ans  «1.0.0016
X 2.0.008
<3 0.512
X 4.0.4096

Question ID : 65497837600
Status : Answered
Chosen Option : 1




Q60 Ermfafea & ¥ #i7 o Ree ol F Pder Amt &1 3gET 748 37
A x 1. AreT fa=re (Mean deviation)

2. " 'gr:rnm (Coefficient of range)

X 5. g f¥Fe (Quartile deviation)
X 4 FHIOT (Variance)

Question ID : 65497837617
Status : Answered
Chosen Option : 3

Q61 zm= & & x Ty FFF pdf fir (x,y) = Cx*y;0<y < x < 1 T WLFT 79 § & Wed Teos =
&1 3T € FT AT AT FL

Ans X1 §
X2 0.1
X3 1
v 4 10

Question ID : 65497837570
Status : Answered
Chosen Option : 1

Q62 fy @ wAmEO W@Ex+2y—5=0 3 2x+3y-8=0 ¥ ar ¥ 3RV & Few 7w g
Ans o4 3 4

X2 24

x3 21

v4+ 1,2

Question ID : 65497837644
Status : Answered
Chosen Option : 4

Q.63 zfr s N F TRHT FEEEw ¥ T sREues U SR 0 & T TRReE Wiaey Jur R
2T @, a sfeest A fr AeE 3R & BT Hites FF (correction factor) T @R T?

Ans
N-1
N-—n

x 1.

Question ID : 65497837635
Status : Answered
Chosen Option : 4




%% frw dea & Arem, AfeTE @R agos TAS @ §?

Ans

v . qHTEY s (Normal distribution)

X 2. AT g2 (Gamma distribution)

X 3. ST JETATET F2=7 (Log-normal distribution)
X 4 F1E-39T ge=T (Chi-squared distribution)

Question ID : 65497837569
Status : Answered
Chosen Option : 2

% 3o 2, 17, 6, 19, 10, 11, 8, 16, 21 & ATH AT FI
Ans 5111

X2 8

X3 6

X410

Question ID : 65497837582
Status : Answered
Chosen Option : 1

Q.66 zfyn, =10, n, =5 B ot sk ot & AR & weR § S g & A Fa o =10,
=4 § 3R 9w AEE BEe o, = 1=0, § & IHR n, +n, AR TGS AT L =6 F AT T
TgFa Aot =1 A famee s & R aver gem

Ans > 1. /3
v2 3
X3 135
X4 9

Question ID : 65497837593
Status : Answered
Chosen Option : 1

Fr gfear garr B

Q.67 sh==-fasie g BEe &7 9097 SEfEs 357 FuifE == & [
eIl

X 1. GE HET & AOH H 5
v 2 gAwH BEAT H HIEHIA
X 3. ek HEAT & Hiatedd

X 4 S TEAT H AR 9REad

Ans

Question ID : 65497837648
Status : Answered
Chosen Option : 1




Q.68 wirmdta & Y wewaw IOTF 1, = 1 "5"2 - & g3 ¥ (untied rank) % AFS # $d° T HREAR
AR A w1

Ans

v i Znn?—1)
X2n
X3 2(n? = 1)

X4 Zn(n? —1)

Question ID : 65497837640
Status : Answered
Chosen Option : 1

Q.69 v Fien # B Affer & a9 & a8 # Ry 7w 5e7 & Bw, I99% 60.1, 61.3, 62.6 §1 "
(Bowley) % fawwar s[uris &1 A F1 gHTT?

Ans X' 1. 0.02
+ 2. 0.04
x3 0.01
x4 0.03

Question ID : 65497837604
Status : Answered
Chosen Option : 2

Q70 y, 3 X, WX, = L SfTHA (X, — X)) = bypa (X, = X3) + byp y (K = Xo) B, ot by, &1

gl
Ans -
1 E(ﬁa Tzarzz)
1 —(133)
Tz —Th3M3
- 2
] = (T'za)
Ty {112 —123T73
o 2z
g, \ 1 —(133)?
Y 0y (?"13 Tzaﬁz)
g3\ 1 —(r33)°

Question ID : 65497837646
Status : Answered
Chosen Option : 1

N =fafEE & @ Fia-ar AfEF 3T (nominal data) @ §7?

Ans

X1 HT F TRIE T

v B geuE grue § Remfiar & g
X 5. T faaadt &7 o F9 g

X4 T FET

Question ID : 65497837612
Status : Answered
Chosen Option : 2




Q.72 ANOVA ¥ gRwsfr efeor & Bw e sqfeaai # F98 F 2 v &1 e F3 §g, FA OW

fam=fafaa e &
sl # | SS | dr Mss F-3tgara
E: i
RfRuad A | 280 | 2 140 42,04
fafuand B a 3 Y
L 20 B 3.33
T 840 | 11

y FT AT AT FL)

Ans X1.113.03
v 2 34.03
X3 73.03
xX4.17.03

Question ID : 65497837664
Status : Not Answered
Chosen Option : --

Q73 r)=1(-20);-1=x <2 7 TYR IgiF Pl # & B afee W @ v g E2
Ans X1.Q2-3Q,—-5=0
X2 97450,+3=0
X3 07430, +5=10
¥4 Q2—-50,—3=0

Question ID : 65497837627
Status : Answered
Chosen Option : 2

Q74 11, 16, 16, 18, 19, 22 =T ARY el R=ad FaaT FT?

Ans  X1. 3.67
2 267
X3 0.67
x4 167

Question ID : 65497837616
Status : Answered
Chosen Option : 1




7 T AT FoT F MR W, W X AN v F i wEwEaY o F 32

X123 &5 6 7

Y78 9401142 13
Ans X1.0.90

X2 0.95

X3 0.85

¥4 1.00

Question ID : 65497837663
Status : Answered
Chosen Option : 1

Q.76 Rywwar & sqareaty & F FEES (S,), I (Bowley) () 3R & (S,) F Frwwar o I
Exdl

ANS 1 Sg =0;S,>0;S, >0
X2 S¢=0;S,<0;S, <0
X3 Sg=0;S,>0;S, <0
vi Sg=0;5,=0;S,=0

Question ID : 65497837603
Status : Not Answered
Chosen Option : --

Q.77 =fE 4,4, A, TEIRE T & AT HoSfoT Tt §, 8 395 g Hr Sifdwar frww swee g
Ans 1. P(A,) + P(A,) + P(4,)

X2 P(A)+ P(A,)+ P(A;) — P(A,4,A,)

X 3. P(A,)P(A,)+ P(A,)P(A,) + P(A;)P(4,)

X 4. P(A,)P(A,)P(A,)

Question ID : 65497837621
Status : Answered
Chosen Option : 2

Q.78 30 ===t i AT S@a F HEAl F HaGFS FAT AT T AT ¥ &F 2.4 € & AAH
faoea ¥ wrw 8.2 OF oY Re 9w wn e 59 g S gl e T A Reew o RE ww
¥ w7 6 ¢ o1 gdetor & w@ifEmeT A #r gem?

Ans X1- 5.64
X2 264
3 4.64

X4 3.64

Question ID : 65497837638
Status : Answered
Chosen Option : 1




Q79 Srimfee 3ot @ arr-sitaa A garr 9= et T
A soafy YR @

X 2. IGATT ALIUTRIT B

X3 3uAfY HTETeed g

X4 3UATY ITETATR &

EC) |

Question ID : 65497837654
Status : Answered
Chosen Option : 1

Q.80 7 X A p AR TEW ¢ & WY THA G F FTEIT B &, A HeT (origin) F HIIaT TG

3T =T g
Ans X1 u* +4p%0? + 40t
2 ut+6p*o’ + 30*
X3 3 u*+4u’c?+ 30t

X4 u*+4u%0? + 30t

Question ID : 65497837577
Status : Answered
Chosen Option : 1

Q.81 gmar 17.55 3= 57 wfagsy ey & arer 3T 1.0 277 sfogst A= faes a9y so9E #1 o4 "9 &
v Fdieas Scaea QT (lot) & GF ZoEdl #1 A a7 SEEET AT & W 95% Rrearemar

e FT ge?
Ans

1
~< 1 1?55 + ZD.DZEE
1
V10

3 17.55 %ty 08

X2 17.55 % 74 o

o

V10

1
X4 1755+ tgﬂ'uﬁm

Question ID : 65497837625
Status : Answered
Chosen Option : 2

Q82 Fr=fafte ¥ W= & WAd auEE # U H
23, 31, 26, 31, 22, 63, 44, 78, 61, 64, 35, 54, 57, 35, 73, 55, 50, 31, 56

Ans  X1. 80.4
X2 585
X3 B2
+ 4 55.8

, 32, 41, 55, 29

Question ID : 65497837585
Status : Answered
Chosen Option : 2




Q83 =t 3.6, 6, 7, 8, 11, 15, 16 F AT & T ATT-T=TeT 71T F1

Ans x4 3 BQ
v 2 3.75
X3 3.25
x4 3.80

Question ID : 65497837590
Status : Answered
Chosen Option : 1

8 mfegwr & wer Arew Raew & qUTE eA @ e s @ ¥

e v (afege & aeT Amer-Reee) / AeTe
X 2 (FgeTeh & WIS ATT-{awera) / AT
X3 (ATET & TIET ATeY-TE=e) [ ATCTH
X 4 (FTETFT & TS ATeY-faTes) / AHGR AT

Question ID : 65497837594
Status : Answered
Chosen Option : 3

Q.85 maeorE HfEe (factorial design) # BFF = TR #T T ¥ 3fU% a0 TG AT ST SET geT

r
Ans X 1. 3nfAa (Dependent)

v 2 ATfET (Independent)
X 3. #FUTr (Indeterminate)

X 4 faendr (Determinate)

Question ID : 65497837637
Status : Answered
Chosen Option : 1

Q86 zfy X o Y i 3K Y W X F TS0 WY WER w9 €, & FE-HaY UIE (X.Y) F AT

=3 R S
Ans x 1. _1

X2 +1

X305

4 (0

Question ID : 65497837645
Status : Answered
Chosen Option : 1




Q87 7fx0,— 0, >0, — 0,2, T A3 (Bowley) F TAWHAT U+ & AT FT gM?

Ans i UATCHS
X2 sfeerd
X =T

X 4. FHUTHS

Question ID : 65497837578
Status : Answered
Chosen Option : 1

Q8 ANOVA &, @ifes® F #1 A WRTE (range) H T&aT ¥l

Ans x4 [1,00)
X2 (~o0,00)
x3 [0,1]
« 4. [0,00)

Question ID : 65497837633
Status : Answered
Chosen Option : 3

Q89 gy o= fiy (v y)=x+2y30<x<10=sy<1 FRTP(0=v<ilosx<?) & m=mw= =

Ans . E
32

10
32
6

32
8

o4 —
32

x 2.

x 3.

Question ID : 65497837573
Status : Answered
Chosen Option : 1

Q.90 m7=r & fr X 3 Y O T wrefRow WY § S wHe oo A, = 1 HRA, =2 ¥ Wiy et e W
mmﬁywwﬁmnm1ﬂ?m2ﬁmaﬂaﬁ#ﬁmﬁmﬁ

nfara T= I w1
Ans 1 1

v23

X3 4

X4 2

Question ID : 65497837576
Status : Answered
Chosen Option : 2




Q.91

Ans

fear § @ 37 e el syewt ¥ frv s o@ie (box plot) 3R Rt woe (whisker plots) & @
FE T HiAeum T8 § Bed g hfr 35 cafdmat #r & 9 o 5 fur & Rvw afew oA
(box plot) I

v

ANOVA #r TRl 9ieEesaT F BT g 9eiig =T 1
x 2.

ANOVA Fr JeoiT aiisetar F v ga wefda Far 2
x 3.

ANOVA #r fraoia aiwesar & RBiw o 553 R 35 &5d vara a8 & 8

X 4.
ag?rma’rmmmeﬁmmﬁ(mxplot)wmaﬁmmml

Question ID : 65497837632
Status : Answered
Chosen Option : 2

Q.92

Ans

o Hwar 1 B @, 9w oefedl & e Awd gEeE _ F s e B

AdEa

K1 o 0 e
:qgraﬂ'\q?-rx

v 20— A0

HeT AET

Question ID : 65497837658
Status : Answered
Chosen Option : 4

Q.93

Ans

AT § o Fia a1 SweT w@dr 272

g;;mhqmm,mmmﬁ@ﬁtmmmﬁ@wmh
g-iﬁ-mhqmm,gﬁ?ﬁé:mmﬁﬁqﬁz i e B
. e T T, F ST ST & ST @ w b

4
TF-FY-ATE YA TN FREF SHAU G0 R gEee e Sler # 5 A8 < 8

Question ID : 65497837653
Status : Answered
Chosen Option : 1




Q.94 ANOVA & 5ot & iy sqemt & aforar & wfeor st F B B o o) gw@is st @5
20 AfFT 9T e BT T wm $W sreTme % v MSE 16 o1 39 3egwa # wiiey & T
s 60 Tt F v SaTET A uea 7 Teees F7a g7

Ans X 1. 6.928
X216
3 4
X4 48

Question ID : 65497837631
Status : Answered
Chosen Option : 4

Q95 3o wm==w 3, 5, 7, 8, 12, 13, 14, 18, 21 & IFIF e 1 qUTF AT FA|

Ans 1. 0.45
<2018
X3 22
X418

Question ID : 65497837595
Status : Not Answered
Chosen Option : --

Q.96 =fy x 3t var o wmefeos =R & & 3= gend fema= & R P <v) =1 &, & Tt
# ¥ #FiF @ fawew v 27

Ans X 1.
gearem E(X) 3R E(Y) # geem @ i S "l ¢
v2 E(X) <E(Y)

X3 E(X) = E(Y)
X4 E(X) =E(Y)

Question ID : 65497837618
Status : Answered
Chosen Option : 2




Q97 v afoe W ¥, B POF f(0=2;0<x<3 ¥ & y=X° & Fedt deat G @@

e
Ans 2
#.1 %;0 <y <243
3
w2 g;{} <y <243
)
v %;n:::yqum
&
o %;0 <y< 243
Question ID : 65497837574
Status : Answered
Chosen Option : 1
Q98 o7 Aofr F7 TUTHATCHS AT (multiplicative model) g &l

Ans X1 Y=T+S+C+I
X2 Y=a+bX+cX?
X3 Y =a+bX
o 4. ¥ =TSCI

Question ID : 65497837655
Status : Answered
Chosen Option : 4

Q.99 zfx, 7 e geamait A 3t B & v P(A)=0.8 3t P(B)=0.6 ¥, &' t& & ¥%T T 3a& ued &
AfdsRar #1 F1

Ans X 1. 02
+2 048
X3 06
x4 0.8

Question ID : 65497837622
Status : Answered
Chosen Option : 2




W e a1w de & fow, TGS T (moment) F HE WA HY
X: -2 -1 0 1 2

piXx=x¥ 93 01 02 03 04

Ans X 1. 7.2
X2 66
X3 64
¥4 6.8

Question ID : 65497837667

Status : Not Answered

Chosen Option : --






